
REPLACEMENT PARTS HARDWARE
BL-2427 2" BODY POSTS BL-4245-S MOTOR SCREWS
BL-2427-B 2-1/2" BODY POSTS BL-5253 ASSORTED NYLON SPACERS
BL-2428-B 3-1/2" BODY POSTS BL-7010 4-40 FLAT HEAD SCREWS
BL-3058 FRONT TIRES (BLUE DOT) BL-7015 5-40 X 1/2" FLAT HEAD SCREWS
BL-3059 FRONT TIRES (GREEN DOT) BL-7017 5-40 X 3/4" FLAT HEAD SCREWS
BL-3359 REAR TIRES (GREEN DOT) BL-7025 4-40 X 1/4" SOCKET CAP SCREWS
BL-3511 REAR HUBS BL-7030-B 5-40 X 3/8" SOCKET CAP SCREWS
BL-4950 CHASSIS PLATE BL-7150 4-40 X 1/8" SET SCREWS
BL-4951 FRONT AXLE PLATE BL-7160 REAR HUB SET SCREWS
BL-4952 BATTERY TRAY BL-7206 5-40 JAM NUTS
BL-4952-A ANTENNA MOUNT BL-7207 5-40 LOCK NUTS
BL-4952-B T-NUT KIT BL-7217 BODY POST & DIFF NUTS
BL-4954 DAMPER MOUNT PLATE BL-7416 REAR AXLE SHIMS
BL-4954-A DAMPER MOUNT SUPPORTS BL-7506 REAR SUSPENSION GROMMET

BL-4954-P DAMPER POST W/HDWE   
BL-4955 DAMPER PLATE HOP-UP's & ACCESSORIES
BL-4955-W DAMPER WASHERS (2) BL-2601-A STOCK CAR NUMBERS
BL-4956 RIDE HEIGHT ADJUSTER BL-2741-S 6" WING WITH HDWE
BL-4956-A RIDE HEIGHT POST BL-3514 ALUMINUM STREET SPEC HUB
BL-4957 BUMPER BL-3518 ALUMINUM DIFF BEARING
BL-5142-B DAMPER SPRINGS BL-5451 BALL BEARING KIT

BL-5162-N T-PLATE   

BL-5165-S MOTOR MOUNT   
BL-5166-S LEFT AXLE CARRIER KIT BODIES
BL-5221 E-CLIPS BL-2283 95 FORD SUPERTRUCK
BL-5228 FRONT SPRINGS BL-2284 95 CHEVY SUPERTRUCK
BL-5351 STEERING BLOCKS BL-2292 SHORT TRACK T-BIRD

BL-5364 STUB AXLES   

BL-5377 KINGPINS   
BL-5452 REAR BUSHINGS OTHER BODIES
BL-5457 FRONT BUSHINGS BL-2271 96 T-BIRD
BL-5730 DIFF AXLE BL-2274 96 MONTE CARLO
BL-5735 THRUST BEARING BL-2275 97 PONTIAC
BL-5737 CONE WASHER BL-2276 SHORT TRACK MONTE CARLO
BL-5740-A ALUMINUM ADAPTOR BL-2279 DODGE SUPERTRUCK
BL-5751 DIFF BALLS BL-2297 94 CAMARO
BL-5752 DRIVE RINGS BL-2305 SHORT TRACK LUMINA


